XEWOM
HE A SRS B 007 HANSAVFLEX

| {3 - o-
01 KBRS EAE T w
BHER 1 WAREELOREDH o ]
02 KEIABL ER | — ok
BHER 2 2098 L vy
GHRRE  mARRRER SOTAT 5 ——1 s
GREX  AE v LT T

E = 1 i ~ - OR
RERE  EETEHEEINUER) s
[T w 61

RERP BERE

#R

BRZE. A, EXARNATHIERENRAEEZSAERIEEZNERER.

# @

XEWOM 04 LL LL PN 100 4 M8x1 M8x1 71 11,3 19,8 15 12 12 6.1x1.6
XEWOM 04 LL 10 LL PN 100 4 M10x1 M8x1 71 11,3 19,8 15 11 14 80x1.5
XEWOM 06 LL LL PN 100 6 M10x1 M10x 1 71 9,8 19,8 15 14 14 8.0x1.5
XEWOM 06 LL 12-1.5 LL PN 100 6 M12x15 M10x1 9,6 12,8 23,2 18 14 17 9.3x24
XEWOM NW 04 HL L PN 250 6 M10x 1 M12x15 7,0 14,0 20,0 21 14 14 80x15
XEWOM NW 06 HL L PN 250 8 M12x15 M14x15 10,0 16,0 22,0 23 14 17 93x24
XEWOM NW 08 HL L PN 250 10 M14x15 M16x15 10,0 17,0 25,0 24 19 19 11.3x24
XEWOM NW 10 HL L PN 250 12 M16x15 M18x15 10,0 19,0 26,0 26 19 22 13.3x24
XEWOM NW 13 HL L PN 250 15 M18x15 M22x15 11,0 21,0 30,0 28 22 24 153x24
XEWOM NW 13 HL22 L PN 315 15 M22x15 M22x15 12,0 21,0 33,0 24 22 27 17.3x24
XEWOM NW 16 HL L PN 160 18 M22x15 M26x15 12,0 24,0 33,0 31 27 27 19.3x24
XEWOM NW 20 HL L PN 160 22 M26x15 M30x2 14,0 28,0 34,0 35 27 32 233x24
XEWOM NW 20 HL 27 L PN 160 22 M 27 x 2 M30x 2 14,0 28,0 35,0 35 30 32 23.6x29
XEWOM NW 25 HL L PN 100 28 M 33 x 2 M 36 x 2 14,0 31,0 38,0 38 36 41 295x3.0
XEWOM NW 32 HL L PN 100 35 M42x 2 M 45 x 2 14,0 38,0 48,0 48 50 50 38.0x3.0
XEWOM NW 40 HL L PN 100 42 M 48 x 2 M 52 x 2 16,0 38,0 49,0 49 50 55 445x3.0
XEWOM NW 03 HS S PN 630 6 M12x15 M14x15 10,0 15,0 22,0 22 14 17 9.3x24
XEWOM NW 04 HS S PN 630 8 M14x15 M16x15 10,0 17,0 26,0 24 19 19 11.3x24
XEWOM NW 06 HS S PN 630 10 M16x15 M18x15 11,0 18,0 27,0 25 19 22 13.3x24
XEWOM NW 08 HS S PN 630 12 M18x15 M20x15 12,0 22,0 31,0 29 22 24 153x24
XEWOM NW 10 HS S PN 630 14 M20x15 M22x15 14,0 22,0 34,0 31 27 27 17.3x24
XEWOM NW 13 HS S PN 400 16 M22x15 M24x15 14,0 25,0 35,0 33 27 27 19.3x24
XEWOM NW 16 HS S PN 400 20 M 27 x 2 M 30 x 2 16,0 28,0 39,0 38 30 32 235x3.0
XEWOM NW 20 HS S PN 315 25 M 33 x 2 M 36 x 2 16,0 30,0 44,0 42 36 41 29.5x3.0
XEWOM NW 25 HS S PN 250 30 M 42 x 2 M 42 x 2 17,0 36,0 51,0 49 50 50 38.0x3.0
XEWOM NW 32 HS S PN 200 38 M 48 x 2 M52 x 2 19,0 34,0 54,0 50 50 55 445x3.0
PN=HEESD PB=BAIEEN - EHRILL=3FERE =8 S=E - 0d2=E/NER

FREE
EWOM fEARRRER AE0°, HHRRSANPAFNEE

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
15.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



